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4. (20%) Find the poles and zeros of the following functions (including the ones at infinity, if
any).
(a) (10%)

10(s + 2
G(s) = (s +2)
. _ s2(s+ 1)(s +10)
1. (20%) Suppose the transfer function of the following block diagram from u to y in terms
of G1, Ga, ..., Gs can be written as follém;‘s v (b) (10%)
= e Y G(s) et 1)
u - —
275 £ (s+2)(s2+3s5s+2)
Find 4=7?
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5. (20%) Determine if the following systems are asymptotically stable, marginally stable, or

B G, e Gy ) unstable. You have to explain the reason for your answer to get the points.
¥ (@ (10%)
10(s + 2)
Gs M(s) = s3 + 352 4+ 55
() (10%)
100
M(s) = s3 —2s2 +3s+10
2. (20%) For the following control system,

(a) draw the corresponding signal flow graph (10%)
(b) determine the transfer function C(s)/R(s) (10%)
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